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Coqgen project & 1
o OCaml OHIMEERDIEL & % Coqg TR A 2zHEE 570 o OCaml 71 v 7 A Fixpoint isort (h : nat) (T 1 : ml type) (1 1 : coq type (ml list T 1))
?/17 ]\ let lazy id = lazy (fun x — x) (¥ 2™ (Ca — “a)lazy_t *) : M (coq type (ml 1list T 1)) :=
~ o , — > N SN, 0 1 f h is h.+1 th
o ELRHNIZIZ OCaml 72*5 Cogq ND I NA T DERR, HEL O a N A | e e
e B S = b e SCHH A 4T o T B let lazy next ¢ = lazy (incr c; !c) match 1_1 with
MeD 7177 LT S 217 - ' | @nil = = Ret (@nil (coq type T 1))
Q Jzy\F, Coqgen project ’Cf%'ﬁgj/Lf:ﬁ\Z%@*ﬁB% X Z&b, 3%553_5 let ¢ = ref 0 in let m = lazy next c in let n = lazy next ¢ in | a :: 1' = do v <- isort h T 1 1'; insert h T 1 a v
o let n = Lazy.force n in let m = Lazy.force m in [m; n] end
R clce Faildas.

o OCaml IZHB 1) 5 store X% Coqg THRHEIT A EMTETSL LD @ Coqgen DZ7 14 77V

£F R 7&*” 14 3 Inductive lazy val (a : Type) := Insertion sort O)%EHH
o store ;2 Env. fil4h% Exn TEL 2O A2FEHTHD LS IZEF R LzVal of a | LzThunk of M a | LzExn of ml exns. L T WO B UREE sorted DEFH
Inductive lazy t a al := Lval of a | Lref of (loc (ml lazy val al)).
THET 5. Fixpoint sorted 1 :=
L. . if 1 is a :: 1' then all (le a) 1' && sorted 1' else true.
Definition M T := Env — Env * (T + Exn). Definition force a (lz : coq type (ml lazy a)) : M (coq type a) := .. - _ | _ . . ik _
: Definition make lazy a (b : M (coq type a)) : M (coq type (ml lazy a)) = R UTZWZ &l isort TEES NN EORERTEINLTWAHZ ETHB.
Type translation do x <- newref (ml lazy val a) (LzThunk _ b); Ret (Lref = _ x). Theorem isort ok h 1 1' : isort h ml int 1 = Ret 1' — sorted 1'.
OCam| DHEIZF T — X B U TEFZEINTWT, Coq IZFHGRS N5 . Definition make lazy val a (b : coq type a) : coq type (ml lazy a) := Proof.
Fixpoint coq type (T : ml type) : Type := ... Lval (coq type a) a b. elim: h 1 1' = [ _ |h IH [|la 1] 1'] /(Chapply empty_env) //=.
- - N, 50 - by move= [] <-.
o I /NA LG y
/%\i'z:‘O) Coqgen ;ﬂj% — destruct h = //
1=t e [ Definition lazy_id (T : ml type) : coq type (ml lazy (ml arrow T T)) := case: (isort pure h.+1 1) = —-[1'' HJ.
o core ML (\EIH + LA, HIREEEL, 7 — X ) make lazy val (ml arrow T T) (fun x : coq type T = Ret x). + rewrite H bindretf .
éﬁg\—ﬁ& P make_lazy_val 2D 2 & TEHBMIZTE 5. case: (insert pure h.+1 a 1'') = -[10 H'].
25 D] Definition lazy next (c : coq type (ml ref ml int)) - rewrite H' :> -1 <-.
let rec fact_rec n = | (Coq_type (ml_lazy m1_1nt>) .= by apply /(lnsert_Ok H') /<IH 1 1! l) .
if n <1 then 1 else n * fact rec (n - 1) make lazy ml int (do _ <- incr c; getref ml int c). - by rewrite H'.
| o N | | + by rewrite H bindfailf.
Frgein factsee (010 (o e MR N (e BN Hpision 102 - vl cospute i et o
do v <~ ml le b ml int m 17int63: Restart it_1 FHEE D JEIHD isort h mi_int | = Ret 'l TEHEAKIITNIX] &\ D 5o
F Y S ot e Goe et g Tho.
do v <- fact _rec h (Int63.sub n 1%int63); Ret (Int63.mul n v) Ve ! Y= ’ | . EHHHNIZE DN T WA HEIILTDE B D TH 5.
2o FailCas do n 1 <- force ml int n; do m 1 <- force ml int m; | | B ~
e : Ret (m 1 :: n 1 :: @nil (coq type ml int))). Lemma happly [AB] [fg: A —-Blx:f=g—fx=gx.
: : : Lemma bindretf A B (a : A) (f : A—- MB) : Ret a >>=f = f a.
while loop ST -2 Lemma bindfailf ABe (g : A — M B) : QFail A e >>= g = QFail B
S OCaml O 7027 5 I it 2 = (..., inl [:: 2%sint63; 1%sint63]) : Env * (seq int + Exn) efima blndlal ¢ g+ A= - Shad © -7 & T Srad ©-
=2 LS Wiz 4 > VI BT <
let fact n = force SNTHID TEHFENFTINDS LD lazy DEEARETE TS| poriivion pure [T] (@ : M T) o=
let 1 = ref n in let v = ref 1 in Insertion sort (dr, m=Ret r) \/ (de, m=Fail e).
while !4 > 0 do v := !v * !i; i := !i - 1 done; !v o OCaml D7 wua 7 5 A Lemma insert pure h b 1 : pure (insert h ml int b 1).
- s — , Lemma isort pure h 1 : pure (isort h ml int 1).
] — — _
° Coqgen D747 7Y Let re;:l ins§r; a1 Lemma insert ok h a 1 1' : insert h ml int a 1 = Ret 1' —
Fixpoint whileloop (h : nat) (f : M bool) (b : M unit) : M unit := matc Wit sorted 1 — sorted 1'.
if b is h.+1 then B Fa] | | |
do v <- f; if v then (do _ <- b; whileloop h f b) else Ret tt leiI: tr)ec;.iiorjlli 2 5 b den g g8 L el b 88 dagert 2 1 :J:ﬁ‘ Coq \_ﬁ < 1[3747 t O)L_L\
cise Failbas. natch 1 with AYRANENTZTTT T MEEF FIZEDNT WD 720, —fikl :%EHH
N o Y -
o I /N1 IR | 1 — [ FHMEIZ 725, LA L, ED X S 7% bindretf *° insert_pure 72 2 D E F N IZFH
Definition fact (h : nat) (n : cog type ml_int) : M (coqg type ml_int) := | a :: 1' — insert a (isort 1') 3 A fRiE % FE /,_J\L/fj:_') CZ & T, B Coq IZFENW2IGE DIEHIZE DT
do i <- newref ml int n; o I I)NA }Vf'ﬁ:nb% A7 é:yb:’(%é
do v <- newref ml int 17,int63; . >
do  <- - Fixpoint insert (h : nat) (T_1 : ml type) (a : coq type T 1) W 21, isort_ok THNIE, EfiEF L &
whiieloop h (do v_1 <- getref ml int i; ml gt h ml int v_1 0%int63) (1 : coq type (ml list T 1)) : M (coq type (ml 1list T 1)) := Theorem isort ok 1 : sorted (isort 1).
(do  <- - - ’ - - - if h is h.+1 then Proof. elim: 1 = //= a 1 IH; by rewrite insert ok. Qed.
(do v_1 <- s LRBH, EF NICHT 2N 2RI EAEHAFELTHS T LA HTIN
: : ni et (a :: @nil (co e S hE S . -
(do v_1 <- getref ml_int i; b1 PR 3. SHBIEE SIGEDI B HEEE AN
do v_2 <- getref ml int v; Ret (Int63.mul v 2 v_1)); " _ .
setref ml int v v 1); do v <~ ml le h T1ab; Coqgen (2B 9 & 1E ¥k
A _ : : 0 - if v then Ret (a :: 1) else
do v 1 <- (do v 1 <- getref ml int i; Ret (Int63.sub v 1 1%int63)); . . ‘
do v et 1).g _ _ do v <- insert h T 1 a 1'; Ret (Gcons (coq type T 1) b v) https://github.com/COCTI/ocaml/pull/3
votref ml int v. end ARG IE Tezos i [ S O ISPS B £ JP22K11902 DB A% % 52 1) 726 DT 9.
~ else FailGas.
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